20x% —ax -9 = (4x-3)(5x—b) A W, a + b 9] & Fo}A?

®-3 @3 ®-1  @o ® 1

B

(4x = 3)(5x — b) = 20x% — (4b + 15)x + 3b
=20x% —ax—-9

3b=-9,b=-3

—(4b+15)=-3=-a

a=3

“a+b=3-3=0




e % A4t e © 2L

@ 4a® - 2ab = 2a(a - b)

@ x? +20x— 100 = (x + 10)?
@ —x*+1=(x+1)(-x-1)
@ x?-Tx+12=(x-2)(x-6)

(@)wx2 +23x-21=(x+3)(10x-7)

@ 4a® - 2ab = 2a(2a - b)
®-x2+1=—-(x+1)(x-1)
@ x?-Tx+12=(x-3)(x—4)




3. (-3x+4y)(3x+4y) - (lx + 5y) <lx - 5y> £ o] shH?

4 4
111 ) 1, 2
@® 11465x + 25y @) 11367x + 16y
@ —1—6x2+41y2 @ —Tx2+41y2

137
@ —?XZ + 31y2

B

(a2 + - { (L) - <5y>2}

= —-9x2 + 16y? — —x? + 25y°

16
_ 5, 2
=16 x° +4ly




4. (a—b-2c)(a—b+5c)—30c% < AN5E5HSHH?

® (a-b+3c)(a—b-"Tc) @ (a-b+4c)(a—b+5c)
@(a—b—Bc)(a—b+86) @ (a-b+5c)(a—b-8c)
® (a-b-2c)(a-b+4c)

B

a-b=t2 =0,
(a=b-2c)(a—-b+5c) - 30c?
= (t—2¢)(t + 5¢) — 30c?

= 12 + 3ct - 40¢?

= (t—5¢)(t+ 8¢)
=(a—b-5¢c)(a-b+8)




b—a= V3 ,ab=1°l1, (b+a)b® - (a+b)a® =mv3ol2t T of,
m ] Fr& Fotol e,

> &

> He . m=7

B

(b+a)? = (b—a)?+ 4ab
=(V3)2+4=7
(b+a)b® — (a+b)a? = (b+ a)(b? — da?)
— (b+al2(b-a)
=7V3=m+V3
kA m =7 oJtt.




